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The greatest number, which when divide 989 and
1327 leave remainders 5 and 7 respectively, is:

9% a9 9! Hed fS99 989 3R 1327 &l @M <

W HAI: I 5 3R 7 @A 7, -
(1) 8 (2) 16 (3) 24 (4) 32
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The largest number, which divides 25, 73 and 97 to
leave the same remainder Iin each case, iIs

I8 9ad dsf 91, 59 gR1 25, 73 91 97 &l 9F =
W YF <90 § gOE IV @, ©
(1) 24 (2) 23 (3) 21 (4) 6

0:45




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Three tankers contain 403 litres, 434 litres, 465 litres
of diesel respectively. Then the maximum capacity of
a container that can measure the diesel of the three
containers exact number of times is

d9 S0 H HHY: 403 WS, 434 Wil 3N 465 i
EI5al 21 U8 U I Sfehad gmar ferat gt fsee i
rEl % SISl Sl U H&AT H AT ST Heh?

(1) 31 litres / @eX (2) 62 litres / @I

(3) 41 litres / TIeX (4) 84 litres / TIX
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84 Maths books, 90 Physics books and 120 Chemis-
try books have to be stacked topicwise. How many
books will be there in each stack so that each stack
will have the same height too ?

TfoTd Y 84 TEAeh!, STifden! 1 90 Y&dhi R THET A
I 120 Tl &1 faua-—ar &t ome s €1 9o @4
T forat J&aeh &l f9d Tdsh @0 &l Sk o THEHH &172
(1) 12 (2) 18 (3) 6 (4) 21
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If P = 23395 : Q = 25.3.7, then HCF of P and Q is :
Jfe P = 23.3105: Q = 25.3.7 &, d P 42N Q < HEdH
H9ades foRdar grm?

(1) 2.3.5.7 (2) 3.2° (3) 22.37  (4) 25.3'°.5.7
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Two numbers are in the ratio 3 : 4. The product of

their H.C.FE and L.C.M. is 2028. The sum of the num-
bers is

Y HEAMT 3 : 4 & I H &1 3T AH. q o G Fl
A% 2028 B H&ASti 1 IThe Brm
(1) 68 (2) 72 (3) 86 (4) 91
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Which is the least number which when doubled will be
exactly divisible by 12, 18, 21 and 30 ?

I€ HIF-G <A Te € 59 T 3 W 9% 12, 18,

21 3R 30 9§ qoiqan fawfea = <idr € 2
(1)2520  (2) 1260  (3)630  (4) 196
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The smallest perfect square divisible by each of 6, 12

and 18 is

6, 12 91 18 U 9 Y& 9 fawifsid gF Tl 9ad Sel
ol ot e @

(1) 196 (2) 144 (3) 108 (4) 36
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Product of two co-prime numbers is 117. Then their

L.C.M. is

I AT AR 1 UAEA 117 81 a1 ST oI5
qa9ecd ©

(1) 117 (2) 9 (3) 13 (4) 39

0:45
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Let x be the smallest number, which when added to

2000 makes the resulting number divisible by 12,
16, 18 and 21. The sum of the digits of x is

o & f% x T o "' € fS9 99 2000 H Sie
ST, o 9fRomET e 12, 16, 18 3R 21 9 fausy =
STt 21 x o 37! T AN 2

(1) 7 (2) 5 (3) 6 (4) 4
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What least number must be subtracted from 1936 so

that the resulting number when divided by 9, 10 and
15 will leave in each case the same remainder 7 ?

9% 9o B 9& -9 g, 59 1936 9 T2 W U

gftomt & H1 9, 10 9o 15 § ¥ fedt @ oft s <
WYY 7 @ ?

(1) 37 (2) 36 (3) 39 (4) 30




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

If the students of a class can be grouped exactly into
6 or 8 or 10, then the minimum number of students

in the class must be

afg forelt e o foenfe=i &1 6 a1 8 A 10 & W-R
el H W S Heh, a1l kel & faenfefai &1 feam
g& gl

(1) 60 (2) 120 (3) 180  (4) 240
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Five bells begin to toll together and toll respectively at
intervals of 6, 7, 8, 9 and 12 seconds. After how
many seconds will they toll together again ?

e B Tk WY F9 IE Hd © AR HU: 6, 7, 8, 9,
12 Gehe & e W a5d 2| fohas U o5 o fHe T
g aeii?

(1) 72 Second / dhUS (2) 612 Seconds / HhUE
(3) 504 Seconds / &S (4) 318 Seconds / I&US




